3-2x 3 Xx+3
T 5-X T 3-X x+1

Otmerum O/I3.
5-x#0 (1)
3-x£0 (2)
x+1#£0 (3)

3-2x 3 +x+3
" 5-X 3-x x+1™

2x-3+ 3 +x+3
X-5 x-3 x+1

1- =0

(2x 3)(x- 3)(x+1) 3(x-5)(x+1) (x+3)(x 5)(x- 3)
(x 5)(x-3)(x+1) (x 3)(x- 5)(x+1) (x+1)(x-5)(x- 3)
(2x 3)(x-3) (x+1)+3(x-5) (x+1)+(x+3) (x-5) (x- 3)
(x-5)(x-3)(x+1)

<2x2 6x- 3x+9)(x+1)+(3x 15)(x+1)+(x -5X+3X- 15>(x 3)
o (x-5) (x-3) (x+1)

1+ <2x2 9x+9)(x+1)+(3x 15)(x+1)+(x -2X- 15)(x 3)
(x-5)(x-3)(x+1)

1+-<2x3+2x2-9x2-9x+9x+9>+(3x2+3x-15x-15>+(x3-3x2-2x2+6x-15x+45>_ 0

(x-5)(x-3)(x+1)

-(2x3-7x2+9)+(3x2-12x-15>+(x3-5x2-9x+45) 0
(x—5) (x—3) (x+1) -
—2x3+7x2—9+3x2—12x—15+x3—5x2—9x+45 0
(x-5)(x-3)(x+1) y
3

x +5x2+21 21x

M x5)(e3)(xr1) T

(x-5)(x- 3)(x+1) XC+BX+21-21x
(x-5)(x- 3)(x+1) (x-5)(x- 3)(x+1) -

1+




(x-5)(x-3) (x+1)+(—x3+5x2+21-21x)

(x-5)(x-3)(x+1) B

( 2-3x-5x+15)(x+1)+(—x3+5x2+21-21x)
(x-5)(x-3)(x+1)

(x2—8x+15>(x+1)+(—x3+5x2—21x+21>

(x-5)(x-3) (x+1) =0

(x3+x2-8x2-8x+15x+15)+(—x3+5x2-21x+21)

(x-5)(x-3)(x+1)

(XB-7X2+7X+15>+(-X3+5X2-21X+21>

(x-5) (x-3) (x+1) =0

x3-7x2+7x+15-x3+5x2-21x+21

(x-5)(x-3)(x+1)

-2x2-l4x+36
(x-5)(x-3) (x+1) ©

=0

2x2+14x-36
“(x-5)(x-3) (x+1) "°

2<x2+7x-18>
“(x-5)(x-3) (x+1) "0

2(x2+7x-18)
(x5)(x-3)(x+1) ©

JpoOb oOpariaercs B HyJb TOT/Ia, KOT/1a YUCIUTENb PAaBEH HYIIIO.

x2+7x—18=0
Haxonum nquckpuMuHAHT.

D=b2—4ac=72

_-bxD

X127 2a

-4-1(-18)=121



_o7-11 _

—9- -7+11
X1721 — YT

X=-9 ynosnetrBopsier O/13.
X=2 ynosnetBopset O/13.

OTBET: X=-9;X=2



